WEESE (ESAME) 0

| - SF4E4AT R
WERBAHE B . ,

BA A

AT 3 R E B R R A B T

R RSB R DR B HAFIE 10 485 178 (37 I B 5%,
RIE1 8 LU0 I D S FISE A B R B U s B IR LS,




AR 3 REBEGTEBI R RS

K & B

TR A
B TEEN B 2,400,000 4 (B -0 PETe)
2 % M
(i < 1)
o’ OB A wo %
WoE WK R M
W # 50, 000F
OO B 748, 407H
HWHHSHBE | M
2 W R R:
OB O o B o i
OB oWOA B 118, 800
w % om %
® ¥ B
A B &
& g
3B R
LA EREHANE

(2oneesa )
Bgem ey




CBilgEe

i

7

EhEERE

WHER

IETIRE h

B SR

FHEH

@Aﬁ%ﬁlﬂéﬁkﬁl‘*{% (60,000 F4)

LIERREDFEAT (564,927 P?l)
%22 BB4E RES BRI, BrAR)
BITE M IE4LH
FEITHEE 20,000 % _
BARJTEE WM TN RIRTRRYTIA
% 93 BEAIT FIES FU, $HA%)
CORITH STeELR

FeITE 20,000 B
BT WRTRSIEEEETA
5 24 B B4R 2ES R
RATH A44E3 A
FE{THME 20,000 R
WA IR MTAGEL., $TAR 4 8 2 H)

ﬂwwja«\_v%%eﬁ%%%(ms 480 1)

T (3 HE) ool (118,800 9}

1. Eﬁa%iﬁdmtb@$ﬁﬂfm€r
SRE 717,000 |4 % UL
%E:Aﬁﬁ&ﬂﬁ% 290 [ X i2utn B i (400

( 23556858 )

2. Iﬁa%?ﬁﬁwcabmﬁﬁ%@ﬁ%ﬂsa,m E)

FIE 5950 12 4 X 1/2(4e4%) 31,5001
TRIAFHERE 660 X125 A X 1/2 (85} =3,960 I




%

ERE

NS

W o e

5
B..
7
8

EREEANE

- Ad :t°%mﬁé£E 500-&* 10 it (2,088-H)
ERIR (R 3 HH1H 4000 %) (33,000 M)
B (A 2 24 1000 ) (15,950 )

BER ,
RS- P ERET(119,063 )
K7 VoV A (7,260 )
e R (23,553 1) -

S —BEERY —A{(60,000 1)

eFax BB A% (11,220 /)
&7 Ly NRIRH(4,738 1)

BEEIC O DI R D (714,000 FI)

EBRER Sf2E48 1 B8 f34E3H 31 H

AR 34E4 A5 114,000 F X 1/2(4y) =57,000 [
GFN3E 5 A4 102,000 M X 1/2 345 =51,000 /3
FT34E6 A4 132,000 9 x1/2 (H55) =66,000 F3
HFIIET A4 120,000 FI X 1/2 ($45) 60,000 z
FT I8 ALy 114,000 [ X 17/2(5) =57,000 F4 °
T34 A5 120,000 B X 1/2(H:4) =60,000

AT 10 A% 126,000 FIX 1/2 @#:45) =63,000 [

GFN3EIL A4 126,000 M X 1/2(#4) =63,000 9
PR3 1244 120,000 H X 1/2(#4) =60,’000 =N
AF4E1AS 114,000 [ X 1/2(345) =57,000 [
S04 42 A4 108,000 X 1/2(4) =54,000 F

. 4
44 I B4 132,000 M X 1/2 (345 =66,000

B R R OME A EIELT
& L‘Ci"ﬁ % L/T:o ‘

WA 2 5D 1 FRHESHR




